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QUESTION 1

Which of the following is an advantage of using queue-groups on a service SAP?
A. It enables CFHP.

B. It more scalable than using policers.

C. It allows a separate set of queues/policers for each VLAN on a port.

D. It allows a set of queues to be shared among multiple SAPs.

Correct Answer: D

QUESTION 2

Which of the following statements about the default scheduler in the Nokia 7750 SR is FALSE?

A. The default scheduler spends an equal amount of time servicing each queue that has traffic to be sent out.
B. Queue-type can be configured as best-effort, expedite, or auto-expedite.

C. A queue will be serviced as expedited if its type is configured as expedited, regardless of the forwarding classes
mapped to it.

D. A queue configured as auto-expedited will be an expedited queue as long as no Best Effort FC is mapped to it.

Correct Answer: A

QUESTION 3

Which of the following statements regarding policing and shaping on the Nokia 7750 SR are TRUE?

(Choose two)

A. The larger the configured MBS value, the lower the amount of shaping performed.

B. When policing is enabled on the SAP-ingress, all traffic is considered as in-profile.

C. Setting the CIR to 1000 and the PIR to max will enable shapeless policing at 1 Mbps within the SAP-egress policy.
D. Configuring MBS to equal CBS will disable shaping.

E. Setting the CIR and PIR to equal values disables soft-policing.

Correct Answer: BE

QUESTION 4
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Click the exhibit button below. A network operator has configured the SAP-ingress policy below. Ping traffic is expected
in queue 3. However, the network operator notices that all traffic is placed in queue 1. What is the most probable reason
for this?

Arsrlarconfigrqos»sap-ingress# info
quaue 1 create
rate max cir 10000
exit
queus 2 create
rate 50000 cir 10000
axXit
gqueus 3 create
rate 5000 cir 1000
exit
queue 11 multipoint create
exit
fc Taf" create
gqueues 2
EHIT
fc *hZ" create
gueus 3
ip-criteria
entty 10 create
match protocel top
dest-port eg 1234
axit
action fo "ef"
exit
entry 20 create
match protocol icmp
exit
action fo "h2"
exit
exit
default-fc be

A. The default forwarding class for all traffic, including ICMP, is BE, which is placed in queue 1.
B. The SAP has been shut down.

C. The IP-match criteria has been misconfigured for ICMP traffic.

D. Queue 3 has no rate or CIR configured and thus cannot hold any packets.

E. The SAP-ingress policy has not been applied to the SAP.

Correct Answer: E

QUESTION 5

A queue-group template can only contain policers (no queues) when applied under which conditions?
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A. When applied at the FP (Forwarding Path) level for access egress
B. When applied at an access port for ingress or egress

C. When applied at the FP (Forwarding Pass) level for access ingress
D. When applied at the port level for network egress

Correct Answer: C
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